

O. P. VARSHNEY (*)

**On a Relation Between Harmonic Summability
and Lebesgue Summability. (**)**

1. - An infinite series $\sum_1^{\infty} a_n$ is defined to be LEBESGUE summable (shortly L-summable) to the sum s , if the sine series

$$(1.1) \quad \sum_1^{\infty} a_n \frac{\sin nt}{n} = F(t)$$

is convergent in some interval $-\tau < t < \tau$; and if

$$(1.2) \quad t^{-1} F(t) \rightarrow s \quad \text{as} \quad t \rightarrow 0.$$

The method is not regular ([1], p. 89). Let us write

$$(1.3) \quad A_n^k = \binom{n+k}{n}, \quad \text{and} \quad s_n^k = \sum_1^n A_{n-\nu}^k a_\nu.$$

The series $\sum_1^{\infty} a_n$ is said to be summable (C, k) for some $k \geq 0$ to the sum s , if

$$(1.4) \quad \lim_{n \rightarrow \infty} \frac{s_n^k}{A_n^k} = s \quad ([1], \text{p. } 97).$$

The series $\sum_1^{\infty} a_n$ with partial sums $s_n = a_1 + a_2 + \dots + a_n$ is said to be harm-

(*) Indirizzo: 5 Meerut Road, Roorkee, India.

(**) Ricevuto: 21-XII-1964.

onic summable [3] to the sum s , if $t_n \rightarrow s$ as $n \rightarrow \infty$, where

$$(1.5) \quad t_n = \frac{S_n}{\log n} = \frac{s_1 p_{n-1} + s_2 p_{n-2} + \dots + s_n p_0}{\log n}, \quad p_n = \frac{1}{n+1}.$$

We write $P_n = p_0 + p_1 + \dots + p_n$, so that $P_n \sim \log n$.

OTTO SZÁSZ [4] has proved that if $\sum_1^\infty a_n$ is summable $(C, 1-\alpha)$ for some positive $\alpha < 1$, and if

$$\sum_1^n |s_v^{1-\alpha} - s_{v-1}^{1-\alpha}| = O(n^{1-\alpha}) \quad \text{as } n \rightarrow \infty,$$

then the series $\sum_1^\infty a_n$ is L-summable.

The object of this paper is to prove an analogous theorem for harmonic summability. We prove

Theorem. *If $\sum_1^\infty a_n$ is harmonic summable and if*

$$(1.6) \quad \sigma_n = \sum_1^n |S_v - S_{v-1}| = O(\log n) \quad \text{as } n \rightarrow \infty,$$

then the series $\sum_1^\infty a_n$ is L-summable.

We may assume, without any loss of generality, that $S_n = o(\log n)$ as $n \rightarrow \infty$. Let $W_n = \sum_{v=n}^\infty \frac{b_v}{v}$, where $b_v = S_v - S_{v-1}$. By ABEL'S transformation,

$$\begin{aligned} W_n &= \sum_{v=n}^\infty \frac{b_n + b_{n+1} + \dots + b_v}{v(v+1)} \\ &= \sum_{v=n}^\infty \frac{S_v - S_{n-1}}{v(v+1)} = o\left[\sum_{v=n}^\infty \frac{\log v}{v(v+1)}\right], \end{aligned}$$

hence

$$(1.7) \quad W_n = o((\log n)/n).$$

This gives

$$(1.8) \quad \sum_1^n W_v = n W_{n+1} + S_n = o(\log n).$$

2. - We set

$$(2.1) \quad (p_0 + p_1 x + \dots + p_n x^n + \dots)^{-1} \sim c_0 + c_1 x + \dots + c_n x^n + \dots$$

We have from (1.5)

$$(2.2) \quad \sum_{n=1}^{\infty} S_n x^{n-1} \sim \sum_1^{\infty} a_n x^{n-1} \sum_{n=0}^{\infty} P_n x^n \sim \left(\sum_1^{\infty} a_n x^{n-1} \right) (1-x)^{-1} \left(\sum_0^{\infty} p_n x^n \right)$$

and therefore

$$(2.3) \quad \sum_{n=1}^{\infty} a_n x^{n-1} \sim (1-x) \left(\sum_{n=1}^{\infty} S_n x^{n-1} \right) (c_0 + c_1 x + \dots + c_n x^n + \dots),$$

from which we obtain

$$(2.4) \quad a_n = c_0 (S_n - S_{n-1}) + c_1 (S_{n-1} - S_{n-2}) + \dots + c_{n-2} (S_2 - S_1) + c_{n-1} S_1.$$

It is known ([2], [5], [6]) that

$$(2.5) \quad c_n = O(1/(n \log^2 n)),$$

$$(2.6) \quad d_n = c_0 + c_1 + \dots + c_n = O(1/\log n).$$

We require the following lemma for proving our theorem.

Lemma. *The series*

$$(2.7) \quad \sum_{n=0}^{\infty} c_n \frac{\sin(n+v)t}{(n+v)t} = T_\nu(t)$$

is absolutely convergent, and

$$(2.8) \quad T_\nu(t) = O(1/(\nu t \log \tau)), \quad \tau = [1/t], \quad 0 < t < 1, \quad \nu \geq 1,$$

and

$$(2.9) \quad \sum_{n=0}^{\infty} c_n \frac{1 - \cos(n+v-1)t}{n+v} = O\left(\frac{t}{\log \tau}\right), \quad 0 < t < 1, \quad \nu \geq 1.$$

Absolute convergence of the series (2.7) follows from (2.5). To prove (2.8)

and (2.9) we note that

$$\begin{aligned} \Delta \frac{\sin(n+v)t}{(n+v)t} &= \frac{\sin(n+v)t}{(n+v)t} - \frac{\sin(n+v+1)t}{(n+v+1)t} \\ &= \frac{\sin(n+v)t - (n+v) \{ \sin(n+v+1)t - \sin(n+v)t \}}{(n+v)(n+v+1)t}, \end{aligned}$$

hence

$$(2.10) \quad \Delta \frac{\sin(n+v)t}{(n+v)t} = O(1/v),$$

and

$$\begin{aligned} \Delta \frac{1 - \cos(n+v-1)t}{n+v} &= \frac{1 - \cos(n+v-1)t}{n+v} - \frac{1 - \cos(n+v)t}{n+v+1} \\ &= \frac{1 - \cos(n+v-1)t + (n+v) \{ \cos(n+v)t - \cos(n+v-1)t \}}{(n+v)(n+v+1)} \\ &= \frac{2 \sin^2((n+v-1)/2)t - 2(n+v) \sin(t/2) \sin(n+v-(1/2)t)}{(n+v)(n+v+1)}, \end{aligned}$$

hence

$$(2.11) \quad \Delta \frac{1 - \cos(n+v-1)t}{n+v} = O(t^2).$$

Now

$$T_v(t) = \sum_{n=0}^{\infty} c_n \frac{\sin(n+v)t}{(n+v)t} = \sum_{n=0}^{\tau} \dots + \sum_{\tau+1}^{\infty} \dots = \Sigma_1 + \Sigma_2,$$

say. Using (2.6) and (2.10) we have

$$\begin{aligned} \Sigma_1 &= \sum_{n=0}^{\tau} c_n \frac{\sin(n+v)t}{(n+v)t} \\ &= \sum_{n=0}^{\tau-1} d_n \Delta \frac{\sin(n+v)t}{(n+v)t} + d_{\tau} \frac{\sin(\tau+v)t}{(\tau+v)t} = O\left[\frac{1}{v t \log \tau}\right], \end{aligned}$$

and

$$\Sigma_2 = \sum_{\tau+1}^{\infty} c_n \frac{\sin(n+v)t}{(n+v)t} = O\left[\sum_{\tau+1}^{\infty} \frac{1}{n \log^2 n v t}\right] = O\left[\frac{1}{v t \log \tau}\right].$$

This proves (2.8). The proof of (2.9) is similar except that we use (2.11) in place of (2.10).

3. - Proof of the theorem. Employing (1.1) and (2.4) we have

$$\frac{F(t)}{t} = \sum_1^{\infty} n^{-1} a_n \sin nt = \sum_{n=1}^{\infty} n^{-1} \sin nt \sum_{\nu=1}^n c_{n-\nu} (S_{\nu} - S_{\nu-1}),$$

hence

$$(3.1) \quad \frac{F(t)}{t} = \sum_{\nu=1}^{\infty} (S_{\nu} - S_{\nu-1}) \sum_{n=\nu}^{\infty} n^{-1} c_{n-\nu} \sin nt,$$

the interchange of summation is justified, as the double series is absolutely convergent. In fact from (2.5)

$$\begin{aligned} \left| \sum_{n=\nu}^{\infty} n^{-1} c_{n-\nu} \sin nt \right| &\leq \frac{1}{\nu} \sum_{n=0}^{\infty} |c_n| \\ &= O\left[\frac{1}{\nu} \sum \frac{1}{n \log^2 n} \right] = O(1/\nu). \end{aligned}$$

It remains to prove the convergence of

$$\sum_1^{\infty} \nu^{-1} |S_{\nu} - S_{\nu-1}|.$$

Now employing (1.6) we have

$$\begin{aligned} \sum_1^n \nu^{-1} |S_{\nu} - S_{\nu-1}| &= n^{-1} \sigma_n + \sum_1^{n-1} \sigma_{\nu} \frac{1}{\nu(\nu+1)} \\ &= O\left[\frac{\log n}{n} \right] + O\left[\sum_1^{n-1} \frac{\log \nu}{\nu(\nu+1)} \right] = O(1). \end{aligned}$$

Thus all series in (3.1) are absolutely convergent, and

$$t^{-1} F(t) = \sum_1^{\infty} (S_{\nu} - S_{\nu-1}) T_{\nu}(t).$$

Now, choose a positive number μ and put $n = [\mu t^{-1}]$,

$$\sum_1^{\infty} (S_{\nu} - S_{\nu-1}) T_{\nu}(t) = \left(\sum_1^n + \sum_{n+1}^{\infty} \right) (S_{\nu} - S_{\nu-1}) T_{\nu}(t),$$

hence

$$(3.2) \quad \sum_1^{\infty} (S_\nu - S_{\nu-1}) T_\nu(t) = \Sigma_1 + \Sigma_2,$$

say. From (2.8) we have

$$\Sigma_2 = O\left[\frac{1}{t \log \tau}\right] \sum_{n+1}^{\infty} (1/\nu) |S_\nu - S_{\nu-1}|$$

and from (1.6)

$$\begin{aligned} \sum_{n+1}^{\infty} \frac{1}{\nu} |S_\nu - S_{\nu-1}| &= \frac{-\sigma_n}{n+1} + \sum_{n+1}^{\infty} \sigma_\nu \frac{1}{\nu(\nu+1)} \\ &= O\left[\frac{\log n}{n}\right] + O\left[\sum_{n+1}^{\infty} \frac{\log \nu}{\nu(\nu+1)}\right] = O\left[\frac{\log n}{n}\right]. \end{aligned}$$

Hence

$$(3.3) \quad \Sigma_2 = O\left[\frac{\log n}{n t \log \tau}\right] = \frac{\log \mu}{\mu} \cdot O(1).$$

Furthermore

$$\begin{aligned} \Sigma_1 &= \sum_1^n (S_\nu - S_{\nu-1}) T_\nu(t) = \sum_1^n (W_\nu - W_{\nu+1}) \nu T_\nu(t) \\ &= \sum_1^n W_\nu \{ \nu T_\nu(t) - (\nu-1) T_{\nu-1}(t) \} - n W_{n+1} T_n(t) \\ &= \frac{\sin t}{t} \sum_1^n W_\nu \sum_0^\tau c_\mu - \frac{1}{t} \sum_1^n W_\nu \sum_0^\tau \frac{\mu c_\mu}{\mu + \nu} \left[\sin t - \frac{\sin(\mu + \nu - 1)t}{\mu + \nu - 1} \right] + \\ &\quad + \frac{1}{t} \sum_1^n \nu W_\nu \sum_{\nu+1}^\infty \frac{c_\mu}{\mu + \nu} \left[\sin t - \frac{\sin(\mu + \nu - 1)t}{\mu + \nu - 1} \right] + \\ &+ \frac{1}{t} \sum_1^n W_\nu \sum_{\tau+1}^\infty c_\mu \frac{\sin(\mu + \nu - 1)t}{\mu + \nu - 1} - \frac{1 - \cos t}{t} \sum_1^n \nu W_\nu \sum_0^\infty c_\mu \frac{\sin(\mu + \nu - 1)t}{\mu + \nu} \\ &\quad - \frac{\sin t}{t} \sum_1^n \nu W_\nu \sum_0^\infty c_\mu \frac{1 - \cos(\mu + \nu - 1)t}{\mu + \nu} - n W_{n+1} T_n(t), \end{aligned}$$

hence

$$(3.4) \quad \sum_1 = \varphi_1 + \varphi_2 + \varphi_3 + \varphi_4 + \varphi_5 + \varphi_6 + \varphi_7, \quad \text{say.}$$

Using (1.8) and (2.6) we have

$$(3.5) \quad \varphi_1 = \frac{\sin t}{t} \sum_1^n W_\nu \sum_0^\tau c_\mu = \frac{\sin t}{t} d_\tau \sum_1^n W_\nu = o\left(\frac{\log n}{\log \tau}\right) = \log \mu \cdot o(1).$$

Since

$$\sin t - \frac{\sin(\mu + \nu - 1)t}{\mu + \nu - 1} = O((\mu + \nu)t^2),$$

we have by (1.7) and (2.5)

$$\begin{aligned} \varphi_2 &= -\frac{1}{t} \sum_1^n W_\nu \sum_0^\tau \frac{\mu c_\mu}{\mu + \nu} \left[\sin t - \frac{\sin(\mu + \nu - 1)t}{\mu + \nu - 1} \right] = \\ &= O\left[t \sum_1^n |W_\nu| \left[\sum_0^\tau \frac{1}{\log^2 \mu} \right] \right] = o\left[t \log^2 n \cdot \frac{\tau}{\log^2 \tau} \right], \end{aligned}$$

hence

$$(3.6) \quad \varphi_2 = \log^2 \mu \cdot o(1),$$

and since

$$\sin t - \frac{\sin(\mu + \nu - 1)t}{\mu + \nu - 1} = O(t),$$

we have

$$\begin{aligned} \varphi_3 &= \frac{1}{t} \sum_1^n \nu W_\nu \sum_{\tau+1}^\infty \frac{c_\mu}{\mu + \nu} \left[\sin t - \frac{\sin(\mu + \nu - 1)t}{\mu + \nu - 1} \right] \\ &= O\left[\sum_1^n \nu |W_\nu| \left[\sum_{\tau+1}^\infty \frac{1}{\mu^2 \log^2 \mu} \right] \right] = o\left[n \log n \cdot \frac{1}{\tau \log^2 \tau} \right], \end{aligned}$$

hence

$$(3.7) \quad \varphi_3 = \mu \log \mu \cdot o(1).$$

Since $|\sin(\mu + \nu - 1)t| \leq 1$, we have by (1.7) and (2.5)

$$\begin{aligned} \varphi_4 &= \frac{1}{t} \sum_1^n W_\nu \sum_{\tau+1}^\infty c_\mu \frac{\sin(\mu + \nu - 1)t}{\mu + \nu - 1} \\ &= O\left[\frac{1}{t} \sum_1^n |W_\nu| \sum_{\tau+1}^\infty \frac{|c_\mu|}{\mu}\right] \\ &= o\left[\frac{1}{t} \sum_1^n \frac{\log n}{n} \sum_{\tau+1}^\infty \frac{1}{\mu^2 \log^2 \mu}\right] = o\left[\frac{1}{t\tau} \cdot \frac{\log^2 n}{\log^2 \tau}\right], \end{aligned}$$

hence

$$(3.8) \quad \varphi_4 = \log^2 \mu \cdot o(1),$$

and

$$\begin{aligned} \varphi_5 &= -\frac{1 - \cos t}{t} \sum_1^n \nu W_\nu \sum_0^\infty c_\mu \frac{\sin(\mu + \nu - 1)t}{\mu + \nu} \\ &= O\left[\frac{t^2}{t} \sum_1^n |W_\nu| \sum_0^\infty |c_\mu|\right] = o\left[t \sum_1^n \frac{\log n}{n}\right] = o(t \log^2 n), \end{aligned}$$

hence

$$(3.9) \quad \varphi_5 = \log^2 \mu \cdot o(1).$$

Using (1.7) and (2.9), we have

$$\begin{aligned} \varphi_6 &= -\frac{\sin t}{t} \sum_1^n \nu W_\nu \sum_0^\infty c_\mu \frac{1 - \cos(\mu + \nu - 1)t}{\mu + \nu} \\ &= o\left[\sum_1^n (\log \nu) \frac{t}{\log \tau}\right] = o\left[\frac{t n \log n}{\log \tau}\right], \end{aligned}$$

hence

$$(3.10) \quad \varphi_6 = \mu \log \mu \cdot o(1).$$

Finally using (1.7) and (2.8) we obtain

$$\varphi_7 = -n W_{n+1} T_n(t) = o(\log n) \cdot O(1/(n t \log \tau)).$$

hence

$$(3.11) \quad \varphi_7 = \frac{\log \mu}{\mu} \cdot o(1).$$

Collecting (3.4) through (3.11) we obtain

$$(3.12) \quad \Sigma_1 = \mu \log \mu \cdot o(1),$$

which together with (3.2) and (3.3) gives

$$t^{-1} F(t) = \frac{\log \mu}{\mu} \cdot O(1) + \mu \log \mu \cdot o(1) \quad \text{as } t \rightarrow 0.$$

Consequently

$$\limsup_{t \rightarrow 0} t^{-1} |F(t)| \leq \frac{\log \mu}{\mu} \cdot O(1),$$

μ being arbitrarily large and $O(1)$ independent of μ , we get finally

$$t^{-1} F(t) \rightarrow 0 \quad \text{as } t \rightarrow 0.$$

This completes the proof of our theorem.

References.

- [1] G. H. HARDY, *Divergent Series*, Clarendon Press, Oxford 1949.
- [2] K. S. K. IYENGAR, *A Tauberian theorem and its application to convergence of Fourier series*, Proc. Indian Acad. Sci. Sect. A **18** (1943), 81-87.
- [3] M. RIESZ, *Sur l'équivalence de certaines méthodes de sommation*, Proc. London Math. Soc. **22** (1924), 412-419.
- [4] O. SZÁSZ, *On Lebesgue summability and its generalization to integrals*, Amer. J. Math. **67** (1945), 387-396.
- [5] O. P. VARSHNEY, *On the relation between harmonic summability and summability by Riesz means of certain type*, Tôhoku Math. J. **11** (1959), 20-24.
- [6] O. P. VARSHNEY, *On Iyengar's Tauberian theorem for Nörlund summability*, Tôhoku Math. J. **16** (1964), 105-110.

S u m m a r y .

Otto Szász has obtained a set of sufficient conditions under which an infinite series which is summable $(C, 1 - \alpha)$, $0 < \alpha < 1$, is also L-summable. Here the author obtains an analogous relation between harmonic summability and Lebesgue summability.

* * *

